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Answer the Questions from any one Option.

OPTION-A

( Plant Anatomy and Embryology)
Paper : BOT-HG-4016

OPTION-B

( Economic Botany and Plant
Biotechnology)

Paper : BOT-HG-4026

For Regular Core

( Plant Anatomy and Embryology)
Paper : BOT-RC-4016

Full Marks : 60
Time : Three hours

The figures in the margin indicate
full marks for the questions.

¥ Answer either in English o, in Assamese.
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OPTION -A (1) Write the name of tissuc that helps
Paper © BOT-HG 4016/BOT- RC-4016 hydrophytes to remain floating 7
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(Plant Anatomy and Embryology) GFe &l
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1. Answer very briefly : (any seven)  1x7=7

- ~ - at is iescent centre ?
Ter v ¢ (e srehy ) (h)  What is qui n
— - - £ «
. , ffga ww o 7
(@) What type of endosperm is found in =
rice ? s (i In which tissue stomata are located ?
yiwe f& w@om ecHEeE (ofld 4 e o (TR TG (AR AT 7 £ g LA J
s " ] e - " ‘ "o .
(b) Where form the embryo gets its () What is tapetum 2
nutrition ? ¢ v?’f’v”—”eun
s AfE $9 o4 A ¢ G fa 2
(c) What are secretory tissues ?
72! FEEm e 2. Write briefly : (any four) 2%4=8
, s7e (el o (fageren Gifav!
(d) What tvpe of fruits do not bear seeds ? SR Wl & (1903 /
—2 asecthes 4""7"—P'f ,_\’l . )
for waem o 1w A@el al 3% aeE (a) Polyembryony
. qegeie]
(e) Who ‘proposed ‘histogen theory’ to
explain shoot optical organisation ? (b) Double fertilization
S+ 4 re S e 61 - ) i
- LA TYT AT B AR T FLRE o f- ot
weyfeors wfal ¢
- o (c) Hydathodes
(f) What is the significance of cambium ? _
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(d) Annual rings

SR ET

(e) Casparian strip

@Sroifrm st

(f/ True and false fruits
oTIFE Y ‘\‘Zﬁﬁ T
(g) Phyvlloclade
TS e

(h) Heterofertilization
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nswer any three of the followinc :
L=

TEC TrEY T4 frran fofane Tea %m5X3=15

a .
(@) What is self-pollination ? Write brieflv

abou
t the advantages and

disadvantages of self-pollination
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(b) Write briefly on heart wood and sap
wood.
IR Y T 2 HATZ] &Y AT 5.1.7_?‘. FHat
(c) Describe cellular endosperm with neat
diagrarm.
oAFEA BEE (AT FALATE 29
(d) Write the difference between
meristematic tissue and permanent
tissue.
mefﬁzﬁ?*ﬂwﬁ%w
(e) Write the difference between apomixis
and parthenocarpy.
QPR O THEE Tl TS 17 B
() Write on microsporogenesis and
microgametogenesis,
ALRGT T T (A Sar &
(g) Write on cork cambium and vascular
cambiurm.
=% @ U@ A (T SCEIES Zam &
(h) Write the tissues responsible for
providing mechanical strength
(support) in the higher plants.
@ﬁﬁﬁﬁﬁﬁﬁﬁﬁ*ﬁﬁ%ﬁﬂﬁ?ﬁ?ﬁZﬁ?Eﬁﬁﬁﬁﬁ
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Answer any three of the following :

SO

(a)

(b)

(c)

o . 10x3=7q
Wl farezar fofabra Tea B s

What is megagametogenesis ? Describe

in detail the
development of

structure and

tetrasporic  mature

iemale gametophyte.

TR oo
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What do vou mean by tunica-corpus
theory ? Describe various theories
Telating to growth and development
In the stem apex of higher plants

_ 2+8=10
A & @ 7 T w44
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Describe

in detail ab
out e
erouth secondary

in dicotyled i

_ A onous ste n
neat diagram. r2n b
\ i +8=10
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What is apical meristem ? Describe
various theories regarding structure,
growth and development of root apex
of flowering plants. 2+8=10

.
o eiem wAl & 7 A4S g T

warsiem 5, 3% e e stk weATH Tl
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What is cross-pollination ? What are
various forms of it ? Describe each of
them briefly with examples.
2+2+6=10
Toa el & ¢ TR Rien @0 QAR
5 2 TarmeE Cies dferst pILE g 41

What are the components of vascular
elements ? Describe any one
component of vascular elements.
2+8=10
gz TomEE TR T 7 AT
o R f6 Tl ekl =40
What is meristematic tissue ? How are

classified ? Write briefly about

they
2+2+6=10

them.
ST @ & 2 TR (RdIReE (S
¢ wre faara e
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M) What IS permanent tissye ? Describy,
different

tvpes of stmple tissues with

neatl diagrams

L H T O S HMIE ST }
AL “".’- ;‘T- ¢ \)-‘ nNe {'_}::;‘ o I-I ] ’| oy ] 'll’J
o





{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }

